A Further Generalization of the General Polynomial Transform and its Basic Characteristics and Applications.

Ahmad Issa^{1*}, Emad Kuffi², Murat Düz³



^{1,3}Department of Mathematics, Faculty of Science, Karabuk University, Karabuk, Turkey;

²Department of Mathematics, Mustansiriyah University, College of Basic Education, Baghdad, Iraq;

ARTICLE INFO

Received: 22 / 09 /2023 Accepted: 15 / 10 / 2023 Available online: 19 / 12 / 2023

DOI: 10.37652/juaps.2023.143479.1140

Keywords:

General Polynomial Transform, AEM Transform, differential equations.

Copyright@Authors, 2022, College of Sciences, University of Anbar. This is an open-access article under the CC BY 4.0 license (http://creativecommons.org/licens es/by/4.0/).



ABSTRACT

In this article, we developed the general polynomial transform into a new transform (Ahmad-Emad-Murat transform), which was expanded by writing a general formula of the Kernel function K(x,t). Besides, we presented the essential characteristics and theorems of AEM transform and made new results. In addition, the efficiency of the proposed transform was verified by applying it to a set of important examples, the most important one is "Cauchy Euler problems". The main advantage of the proposed transform is getting a more generalized transform and making it easier to handle in solving differential equations with variable coefficients, reducing effort and time in the calculations. Hence, the polynomial integral transform and general polynomial transform that have been introduced during the last years are special transforms of the AEM transform.

Introduction:

Differential equations are one of the most interesting problems in applied mathematics. Because they have various applications in both engineering and science [3,5,10]. Several transformations have been presented to solve this problem, including the Fourier transform [8] and the Laplace transform. Recently, new transforms that depend mainly on the development of the Laplace transform have been discovered, including the Aboodh transform [2], Elzaki transform [6], complex SEE transform [4], Emad–Sara integral transform [9], Polynomial integral transform [1], General Polynomial transform [7], Al-Temimi transformation [5], Ntransform [11], and other transforms. In this study, we developed General Polynomial transform by writing the kernel function in its general form. And with this, we get a more generalized transformation. In this paper, we will employ AEM Transform to solve differential equations with variable coefficients, as the following:

*Corresponding author at: Department of Mathematics, Faculty of Science, Karabuk University, Karabuk, Turkey; ORCID:https://orcid.org/ 0000-0001-7495-3443; Tel:+905512770293

E-mail address: ahmad93.issa18@gmail.com

$$\beta_n t^n y^{(n)} + \beta_{n-1} t^{n-1} y^{(n-1)} + \dots + \beta_1 t y' + \beta_0 y$$

= $u(t)$.

where $\beta_0, \beta_1, \dots, \beta_n$ are constants, and $\mu(t)$ is known function.

Definitions, properties, and theorems of AEM Transform:

Definition 1. [7] The General Polynomial Transform of f(t) denoted by the operator F is given by

$$I_{s}[f(t)] = \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt = F(p(\alpha)).$$

Now, we will introduce the definition of Ahmad-Emad-Murat transform and its properties :

Definition 2. The Ahmad-Emad-Murat Transform of f(t) denoted by the operator $E(H(\alpha), p(\alpha))$ is given by

$$AEM[f(t)] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt$$
$$= E(H(\alpha), p(\alpha)).$$

Where $H(\alpha)$, $p(\alpha)$ are functions of parameter α .

Definition 3. The inverse of Ahmad-Emad-Murat Transform of $E(p(\alpha), p(\alpha))$ denoted by $(AEM)^{-1}$ and

Open Access

defined as

$$(AEM)^{-1} [AEM[f(t)]] = f(t)$$

$$= \frac{1}{2\pi i} \int_{\delta - i\tau}^{\delta + i\tau} \frac{t^{p(\alpha)+1}}{H(\alpha)} E(H(\alpha), p(\alpha)) d\alpha.$$

In general $w = \delta + i\tau$ with δ and τ being real numbers, $i \in \mathbb{C}$. The integral converges when $R[\alpha] = \delta > 0$ and $\delta < 0$, $E(H(\alpha), p(\alpha)) = 0$.

Some properties of AEM Transform are as follows:

• (Linearity of AEM Transform) If f(t) = Cg(t) + Dh(t), then

$$AEM[Cg(t) \pm Dh(t)]$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} (Cg(t))$$

$$\pm Dh(t) dt,$$

$$= CH(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} g(t) dt$$

$$\pm DH(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} h(t) dt,$$

$$= C AEM[g(t)] \pm D AEM[h(t)].$$

• If f(t) = C, C is constant, then

$$AEM[C] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)}(C) dt$$
$$= CH(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} dt,$$
$$= CH(\alpha) \left[\frac{t^{-p(\alpha)}}{-p(\alpha)} \right]_{1}^{\infty} = \frac{CH(\alpha)}{p(\alpha)}, p(\alpha) > 0.$$

• If $f(t) = t^m$, then

$$\begin{split} AEM[t^m] &= H(\alpha) \int\limits_{t=1}^{\infty} t^{-(p(\alpha)+1)}(t^m) \ dt \\ &= H(\alpha) \int\limits_{t=1}^{\infty} t^{-(p(\alpha)+1-m)} \ dt \\ &= H(\alpha) \left[\frac{t^{-p(\alpha)+m}}{-p(\alpha)+m} \right]_1^{\infty} = \frac{H(\alpha)}{p(\alpha)-m}, p(\alpha) > m. \end{split}$$

• If
$$f(t) = \ln t$$
, $t > 1$ then

$$AEM[\ln t] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} \ln t \ dt,$$

$$= H(\alpha)(\ln t \frac{t^{-p(\alpha)}}{-p(\alpha)}|_{1}^{\infty} - \int_{t=1}^{\infty} \frac{1}{t} \frac{t^{-p(\alpha)}}{-p(\alpha)} \ dt)$$

$$= \frac{H(\alpha)}{p(\alpha)} \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} \ dt = \frac{1}{p(\alpha)} .AEM[1]$$

$$= \frac{H(\alpha)}{(p(\alpha))^{2}}, p(\alpha) > 0.$$

• If $f(t) = t^m \ln t$, t > 1, $m \in \mathbb{R}$ then

$$AEM[t^{m} \ln t] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} t^{m} \ln t \ dt,$$

$$= H(\alpha)(\ln t \frac{t^{-p(\alpha)+m}}{-p(\alpha)+m} \Big|_{1}^{\infty} - \int_{t=1}^{\infty} \frac{1}{t} \frac{t^{-p(\alpha)+m}}{-p(\alpha)+m} \ dt)$$

$$= \frac{H(\alpha)}{p(\alpha)-m} \int_{t=1}^{\infty} t^{-(p(\alpha)+1)+m} \ dt$$

$$= \frac{1}{p(\alpha)-m} . AEM[t^{m}]$$

$$= \frac{H(\alpha)}{(p(\alpha)-m)^{2}}, p(\alpha) > m.$$

• If $f(t) = \sin(a\ln(t))$, t > 1, $a \in \mathbb{R}$, then $AEM[\sin(a\ln(t))]$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} \sin(a\ln(t)) dt,$$

by integrating by parts twice, we get

$$AEM[\sin(a\ln(t))] = \frac{a H(\alpha)}{(p(\alpha))^2 + a^2}.$$

• If $f(t) = \cos(a\ln(t))$, t > 1, $a \in \mathbb{R}$, then $AEM[\cos(a\ln(t))]$

$$=H(\alpha)\int_{t-1}^{\infty}t^{-(p(\alpha)+1)}\cos(a\ln(t)) dt,$$

by integrating by parts twice, we get

$$AEM[\cos(a\ln(t))] = \frac{H(\alpha) p(\alpha)}{(p(\alpha))^2 + a^2}.$$

• If $f(t) = \sinh(a\ln(t))$, t > 1, $a \in \mathbb{R}$, then

$$AEM[\sinh(a\ln(t))] = \frac{a H(\alpha)}{\big(p(\alpha)\big)^2 - a^2}, |p(\alpha)| > a.$$

• If $f(t) = \cosh(a\ln(t))$, t > 1, $a \in \mathbb{R}$, then

and

$$AEM[\cosh(a\ln(t))] = \frac{H(\alpha)\,p(\alpha)}{\big(p(\alpha)\big)^2 - a^2}, |p(\alpha)| > a.$$

Theorem1. If $m \in \mathbb{R}$ $AEM[f(t)] = E(H(\alpha), p(\alpha))$, then

 $AEM[t^m f(t)] = E(H(\alpha), p(\alpha) - m).$

$$AEM[t^{m}f(t)] = E(H(\alpha), p(\alpha) - m)$$

$$AEM[t^m f(t)] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} t^m f(t) dt,$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1-m)} f(t)dt$$
$$= E(H(\alpha), p(\alpha) - m).$$

AEM Transform of derivatives of f(t):

1.

$$AEM[tf'(t)] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} tf'(t) dt$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-p(\alpha)} f'(t) dt,$$

$$= H(\alpha)(t^{-p(\alpha)} f(t)|_{1}^{\infty} + p(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt)$$

$$= -f(1) H(\alpha) + p(\alpha) E(H(\alpha), p(\alpha)).$$

2.

$$AEM[t^{2}f''(t)] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} t^{2}f''(t) dt$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)-1)} f''(t) dt,$$

$$= H(\alpha)(t^{-(p(\alpha)-1)} f'(t)|_{1}^{\infty}$$

$$+ (p(\alpha) - 1) \int_{t=1}^{\infty} t^{-p(\alpha)} f'(t) dt)$$

$$= H(\alpha)(-f'(1) + (p(\alpha) - 1)[t^{-p(\alpha)} f(t)|_{1}^{\infty}$$

$$+ p(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt])$$

$$= -H(\alpha)f'(1) - H(\alpha)f(1)(p(\alpha) - 1)$$

Theorem 2. Let f(t) be continuous on $(1, \infty)$ and if $f'(t), f''(t), \cdots, f^{(n)}(t)$ are exists, then $AEM[t^m f^{(m)}(t)] = -H(\alpha)f^{(m-1)}(1) - H(\alpha)(p(\alpha) - p(\alpha))$

 $+ p(\alpha)(p(\alpha) - 1)E(H(\alpha), p(\alpha)).$

$$\begin{split} &(m-1)\big)f^{(m-2)}(1) - H(\alpha)\big(p(\alpha) - (m-1)\big)\big(p(\alpha) - (m-2)\big)f^{(m-3)}(1) - \dots - H(\alpha)\big(p(\alpha) - (m-1)\big)\big(p(\alpha) - (m-2)\big)\big(p(\alpha) - (m-3)\big) \dots (p(\alpha) - (m-1)f(1) + \frac{p(\alpha)!}{(p(\alpha) - m)!}E\big(H(\alpha), p(\alpha)\big) \,. \end{split}$$

Open Access

Proof. Let we do with mathematical induction

i. Is true for
$$m = 1$$

$$AEM[tf'(t)] = H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} tf'(t) dt$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-p(\alpha)} f'(t) dt,$$

$$= H(\alpha)(t^{-p(\alpha)} f(t)|_{1}^{\infty} + p(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt)$$

$$= H(\alpha)(-f(1) + p(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)} f(t) dt)$$

$$= -f(1) H(\alpha) + p(\alpha) AEM[f(t)]$$

$$= -f(1) H(\alpha) + p(\alpha) E(H(\alpha), p(\alpha)).$$

for m = 1 is true.

ii. Let true for m that is

$$AEM[t^{m}f^{(m)}(t)] = -H(\alpha)f^{(m-1)}(1) -H(\alpha)(p(\alpha) - (m-1))f^{(m-2)}(1) -H(\alpha)(p(\alpha) - (m-1))(p(\alpha) -(m-2))f^{(m-3)}(1) - \cdots -H(\alpha)(p(\alpha) - (m-1))(p(\alpha) -(m-2))(p(\alpha) - (m-3)) \cdots (p(\alpha) -1)f(1) + \frac{p(\alpha)!}{(p(\alpha) - m)!} E(H(\alpha), p(\alpha)).$$

iii. We must show true for m + 1

$$AEM[t^{m+1}f^{(m+1)}(t)]$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)+1)}t^{m+1}f^{(m+1)}(t) dt$$

$$- H(\alpha)f^{(m)}(1)$$

$$= H(\alpha) \int_{t=1}^{\infty} t^{-(p(\alpha)-m)} f^{(m+1)}(t) dt =$$

$$= H(\alpha)(t^{-(p(\alpha)-m)} f^{(m)}(t)|_{1}^{\infty} + (p(\alpha))$$

$$- m) \int_{t=1}^{\infty} t^{-(p(\alpha)-m+1)} f^{(m)}(t) dt$$

$$= -H(\alpha) f^{(m)}(1)$$

$$+ (p(\alpha) - m) A E M[t^{m} f^{(m)}(t)]$$

$$= -H(\alpha) f^{(m)}(1)$$

$$+ (p(\alpha) - m) \left[-H(\alpha) f^{(m-1)}(1) - H(\alpha) (p(\alpha) - (m-1)) (p(\alpha) - (m-2)) f^{(m-3)}(1) - \cdots - H(\alpha) (p(\alpha) - (m-1)) (p(\alpha) - (m-2)) (p(\alpha) - (m-2)) (p(\alpha) - (m-2)) (p(\alpha) - (m-3)) \cdots (p(\alpha) - 1) f(1)$$

$$+ \frac{p(\alpha)!}{(p(\alpha) - m)!} E(H(\alpha), p(\alpha)) \right] =$$

$$+ \left[-H(\alpha)(p(\alpha) - m) f^{(m-1)}(1) - H(\alpha)(p(\alpha) - m)(p(\alpha) - (m-1)) (p(\alpha) - (m-1)) (p(\alpha) - (m-2)) f^{(m-3)}(1) - \cdots - H(\alpha)(p(\alpha) - m)(p(\alpha) - (m-2)) (p(\alpha) - (m-2)) (p(\alpha) - (m-1)) (p(\alpha) - (m-2)) (p(\alpha) - (m-3)) \cdots (p(\alpha) - 1) f(1) + \frac{p(\alpha)!}{(p(\alpha) - (m+1))!} E(H(\alpha), p(\alpha)) \right]$$

Thus, for m + 1 is true.

Examples of Applying AEM Transform on Differential Equations with Variable Coefficients:

In this section two examples are given and exact solution is found using our new transformation.

Example 1. [5] consider the following equation

$$t^2y'' + 6ty' + 6y = \frac{1}{t^2}$$
, (1)
with ICs $y'(1) = 2$, $y(1) = -4$.

By using the AEM Transform into equation (1), we get: $AEM[t^2y''] + 6 AEM[ty'] + 6 AEM[y]$

$$= AEM\left[\frac{1}{t^2}\right]. (2)$$

Equation (2) can be written in the form

$$-H(\alpha)y'(1) - H(\alpha)y(1)(p(\alpha) - 1)$$

$$+ p(\alpha)(p(\alpha) - 1)E(H(\alpha), p(\alpha))$$

$$- 6H(\alpha)y(1)$$

$$+6 p(\alpha)E(H(\alpha),p(\alpha)) + 6 E(H(\alpha),p(\alpha)) = \frac{H(\alpha)}{p(\alpha)+2}$$

and by applying the initial condition and simplify equation, we obtain:

$$E(H(\alpha), p(\alpha)) = H(\alpha) \frac{2(p(\alpha))^2 + 10 p(\alpha) + 13}{(p(\alpha) + 2)^2 (p(\alpha) + 3)}$$

By using the partial fraction of the last equation, we have

$$E(H(\alpha), p(\alpha)) = \frac{H(\alpha)}{p(\alpha) + 2} + \frac{H(\alpha)}{(p(\alpha) + 2)^2} + \frac{H(\alpha)}{p(\alpha) + 3}.$$
(3)

By using the inverse AEM transform into equation (3), we get the solution of equation (1), that is,

$$y(t) = t^{-2} + t^{-2} \ln t + t^{-3}$$

Example 2. consider the following equation

$$ty' + 2y = \cos(2 \ln t)$$
, (4)
with IC $y(1) = 1$.

By using the AEM Transform into equation (4), we get:

$$AEM[ty'] + 2AEM[y] = AEM[\cos(2 \ln t)].$$
 (5)

Equation (5) can be written in the form

$$-H(\alpha)y(1) + p(\alpha)E(H(\alpha), p(\alpha)) + 2E(H(\alpha), p(\alpha))$$
$$= \frac{H(\alpha)p(\alpha)}{(p(\alpha))^2 + 4}$$

and by applying the initial condition and simplify equation, we obtain:

$$E(H(\alpha), p(\alpha)) = \frac{H(\alpha)}{p(\alpha) + 2} + \frac{H(\alpha) p(\alpha)}{(p(\alpha) + 2)(p(\alpha))^2 + 4}$$

By using the partial fraction of the last equation, we have

$$E(H(\alpha), p(\alpha)) = \frac{3}{4} \frac{H(\alpha)}{p(\alpha) + 2} + \frac{1}{4} \frac{H(\alpha) p(\alpha)}{(p(\alpha))^2 + 4} + \frac{1}{2} \frac{H(\alpha)}{(p(\alpha))^2 + 4}.$$
(6)

By using the inverse AEM transform into equation (6), we get the solution of equation (4), that is,

$$y(t) = \frac{3}{4}t^{-2} + \frac{1}{4}\cos(2\ln t) + \frac{1}{4}\sin(2\ln t).$$

Conclusion

In this study, a new type of transformation (AEM transform) was constructed and applied to differential equations with variable coefficients. And then we used it to solve a class of "Euler equation". The main advantage of the proposed transform for solving this equation is to find solutions without dealing with complex calculations, and to get a more generalized transform from a general polynomial transform. Furthermore, from the definition of the AEM transform, we can construct many new integral transformations by selecting new formulas for $H(\alpha)$ and $p(\alpha)$. In future studies the proposed transformation can be used to solve differential difference equations.

References

- [1] Barnes, B. (2016). Polynomial integral transform for solving differential equations. *Eur. J. Pure Appl. Math*, 9(2), 140-151.
- [2] Aboodh, K. S. (2013). The new integral transform, "Aboodh transform". *Glob. Pure Appl. Math*, 9(1), 35-43.
- [3] Braun, M. (1993). Differential Equation and Their Application, 4th Ed, *New York, Springer-Verlag*.
- [4] Mansour, E. A., Mehdi, S. A., & Kuffi, E. A. (2021). The new integral transform and its applications. *Int. J. Nonlinear Anal. Appl*, *12*(2), 849-856.

- [5] Mohmmed, A. H., & Kathem, A. N. (2008). Solving Euler's equation by using new transformation. *J. Kerbala Univ*, 6(4), 103-109.
- [6] Zaki, T. M. (2011). The new integral transform, "Elzaki transform". *Glob. J. Pure. Appl. Math*, 7(1), 57-64.
- [7] Kuffi, E. A., & Maktoof, S. F. (2021). A new general polynomial transforms for solving ordinary differential equations with variable coefficients. *International Journal of Nonlinear Analysis and Applications*, 12(Special Issue), 2189-2196.
- [8] Düz, M., Issa, A., & Avezov, S. (2022). A new computational technique for Fourier transforms by using the Differential transformation method. *Bulletin of International Mathematical Virtual Institute*, 12(2), 287-295.
- [9] Maktoof, S. F., Kuffi, E., & Abbas, E. S. (2021). "Emad-Sara Transform" a new integral transform. *Journal of Interdisciplinary Mathematics*, 24(7), 1985-1994.
- [10] Kayabaşı, H., Düz, M., & Issa, A. (2022). The variational iteration method for solving second order linear non-homogeneous differential equations with constant coefficients. *Romanian Mathematical Magazine*, 13(2), 1-5.
- [11] Khan, Z. H., & Khan, W. A. (2008). N-transform properties and applications. *NUST journal of engineering sciences*, *I*(1), 127-133.

المزيد من التعميم لتحويل كثير الحدود العام وخصائصه الأساسية وتطبيقاته

 3 أحمد عيسى * ، عماد كوفي 2 ، مراد دوز

¹⁰ قسم الرياضيات، كلية العلوم، جامعة كار ابوك، كار ابوك، تركيا . جامعة القادسية، العراق وقسم الرياضيات، كلية التربية الأساسية، الجامعة المستنصرية، بغداد، العراق

الخلاصة:

في هذه المقالة، قمنا بتطوير تحويل كثير الحدود العام إلى تحويل جديد (تحويل أحمد-عماد-مراد)، والذي تم توسيعه عن طريق كتابة صيغة عامة لدالة النواة (K(x,t). علاوة على ذلك، قدمنا الخصائص والنظريات الأساسية لتحويل AEM وحققنا نتائج جديدة. بالإضافة إلى ذلك تم التحقق من كفاءة التحويل المقترح من خلال تطبيقه على مجموعة من الأمثلة المهمة أهمها "مسائل كوشي أويلر". الميزة الرئيسية للتحويل المقترح هو الحصول على تحويل أكثر عمومية ويسهل التعامل في حل المعادلات التفاضلية ذات المعاملات المتغيرة، مما يقلل الجهد والوقت في العمليات الحسابية. لذلك فإن تحويل كثير الحدود وتحويل كثير الحدود وتحويل كثير الحدود العام الذي تم تقديمه خلال السنوات الأخيرة هما تحويلات خاصة من تحويل AEM.

الكلمات المفتاحية: تحويل كثير الحدود العام، تحويل أحمد، معادلات تفاضلية.